VARIABLES: ALGEBRAIC EXPRESSIONS IT (E-3) Name:
CHALLENGE

225)

(48 = 8) — 8x — b + (((2z — bxr + (—4x)))) — 3 =

226)

(((0 =5 — 0) + (162) + (642 = 8))) + (—10) — (—da) =

227)

((63+74+02)) =9+ (=7)+ (18 + (—16)) — (—=9))) =

(3x — 4+ (—8x)) — (—62))—0z=+((((162 -8+ (—10x))))) =

229)

(1z + (—22))+ 2z + 62)+-(((1z — (=dz)) + (—10x)))) x (—162) =

230)

(22 — (—12) + (—11)) — (T x 0 = (7z) = 15)) — 4 =

231)

(0+ (=8x) + (—=8z))+(((0z x 7z) x (—6)))+(5x + (—19)) =

232)

(0= (—4) xTx)) x6xr x 1049 — (Tx —x) =

Mathematics: Variables - Level 3 - Expressions - Set 3 30


https://www.workulum.com

